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Notation
- HAD i BET—2:x, = [Xai1, 0 Xaip]T (0= 1,..Np)

- ﬁBO) I EE?_QZxBl = [xBl'l, ...,xBiP]T (l = 1, NB)
N, BADT =28 Ny #BOT—2¥, P. T—2 DR

- HREBABOEH: w=[w,, .., wp]T
— BADT—2 x,; &y BINHEULME: y,;, = wxy;
— B¥BOT—R x5 &y BINHEUTAE: y5 = wlixg;

— BADT—2DEERFEHYNIMNV: X, = [%4q, ..., Tap]T
— BHBOT—2DEXRFEHINIMV: x5 = [X5q, ..., X5p]T
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— Yai & yp: DFY
1 xNa P _ _
Ya = N L YA = Z WiXgx = WXy
g Li=1 k=1 :
1 Np p _ _
Vg = N_Z YBi = Z WiXpy = WXp.
B i=1 k=1
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NA + NB ) {(NA - 1)WTSAW + (NB - 1)WTSBW} = WTSW

<> 1
T=f-L. S = m{(NA — 1S, + (Ng — 1)Sp} 10
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w* = S71(X4 — Xp)
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y Ml ETOBBOFEL: w'x,

1
— :F,iin m = E{W*TEA + W*TEB} Xy

— FIRIBA £ (x) AN
f(x)=wTx—m w]
m R/
f(x) = 0GSIERMD x ZHAICFRE wTx,
f(x) < 0BSIERMD x ZFBICFHIE y
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1E & 3 (Accuracy) TP +TN
- FAMTF—2%ZELSHIRITZ/-EIS TP + FN + FP + FN
ﬁeg(precision) TP

- BEEHBILEET—20R, REBICIEETH2ES TP+ FP
BIREF ccan -
- %I‘%t:l‘%ﬂ"(&é?—@a)m, IE'./(*“E“T%E%“% TP+ FN

F —RE(F-measure)
- BELBREONFAGRATFY) AT EAREARERIL—FAD

fl: EOBREY TIROARRRLICEL 71581 ?
fil: AN OIRLICEL 151813 ?

FI7 AR
B 11 [51%) B2l B2 14)
T | B True Positive (TP) False Negative (FN)
ol B2 False Positive (FP) True Negative (TN)

RIZE BRI B 2 DEFT #1

IV h—-ROBENT—2
— Default Data (sLR/$y7—SP1010,000 A% Dsimulated data)
HEHBAZESY . default (Yes or No)
SHBAZEHL - student, balance, income
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G. James, et al. “An Introduction to Statistical Learning with Application in R” Springer (2013)
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LIV h—-FORENT -5

library(MASS) ' :1;;3‘:;1:7 st:;éat

library(ISLR) No :9667 No :7056
library(ggplot2) Yes: 333 Yes:2944

data(Default)

summary(Default)

TrainD = Default[1:3000,] #3Il#&7—43000A %
TestD = Default[3001:10000,] #7 Ak F—%7000 A 7
1da = lda(default~student+balance+income,data=TrainD)
1da

pred = predict(lda, TestD)

pYes = pred$class=="Yes"

tYes = TestD[,"default"]=="Yes"

#IE & Z (accuracy)
mean(pred$class==TestD[,"default"])
#8& % (precision)

sum(pYes & tYes)/sum(pYes)

#B IR (recall). Hit rate

sum(pYes & tYes)/sum(tYes)library(MASS)
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